
1. Calculate x.

130°

Higher Homework 45 : Angles

3𝑥 + 5 x = ……………

(2 marks)

(2 marks)
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50°

2.  Calculate x. 

67°

…………………

(3 marks)

𝑥 = 41°

3.  The diagram show the locations of two planes in the sky.

𝐵

𝑁

𝑁

𝐶

Plane C is on a bearing of 080°from plane A

Plane C is on a bearing of 320°from plane B

𝐴

108°

𝑥

67° 72°

𝐴

You must give reasons for your answer.
𝐶

𝐷

𝐸

𝐹
𝐺

𝐵
𝐻

𝐶𝐵𝐻 = 67° 𝑏𝑒𝑐𝑎𝑢𝑠𝑒 𝑐𝑜𝑟𝑟𝑒𝑠𝑝𝑜𝑛𝑑𝑖𝑛𝑔 𝑎𝑛𝑔𝑙𝑒 𝑎𝑟𝑒 𝑒𝑞𝑢𝑎𝑙

𝐹𝐾𝐺 = 72° 𝑏𝑒𝑐𝑎𝑢𝑠𝑒 𝑎𝑛𝑔𝑙𝑒𝑠 𝑜𝑛 𝑎 𝑙𝑖𝑛𝑒 𝑎𝑑𝑑 𝑢𝑝𝑡𝑜 180°

𝐾

𝑥 = 41° 𝑏𝑒𝑐𝑎𝑢𝑠𝑒 𝑎𝑛𝑔𝑙𝑒𝑠 𝑖𝑛 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒𝑎𝑑𝑑 𝑢𝑝𝑡𝑜 180°

75°



Higher Homework 45 : Angles

Score =

4.  Here is are two regular polygons. 

x = ……………

(2 marks)

Calculate x.
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132°

125°

3𝑥 + 5

x = ……………

(2 marks)

15°

𝑥

5.  Calculate x. 

70°

4𝑥

235°
50°

60°

𝐴

𝐵

𝐶

57°

6.  Points A, B, C and D are points on the edge of a circle center O.

𝑜

(a) Calculate the size of angle ECB.

(b) Calculate the size of angle OCB.

………………

………………

(3 marks)

57°

33°

76°

𝐸

DE is a tangent.

𝐷


